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= = A\ A\ | = = s A = A = | =
7 100kN/m%E#8z5 | 1.00 | 000 ~ 253 139.63 |3mEBz5| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 1085 ~ 2531 139.63 |3mZEEZ D - ~ — — —
s 1.00 | 2563 ~ 1031 100.00 | #nLst | 0.00 ~ 1031 2.89 14.60 s 1.00 | 6.00 ~ 1085 100.00 | =5t | 6.00 ~ 2531| 2.89 14.60
2 100kN/mM%E#BZ5 | 1.00| 000 ~ 164 125,11 |3mZBAB| — ~ — — — | 100kN/ %825 | 1.00 | 10.70 ~ 1697| 12511 |3mE#Z5 - ~ — — —
s 1.00 | 1.64 ~ 943 100.00 | =nst | 0.00 ~ 9.43| 2.28 11.53 s 1.00 | 6.00 ~ 1070 100.00 | =5 | 6.00 ~ 1697| 2.28 11.53
3 100kN/m%E#8z5 | 1.00 | 000 ~ 017 10250 |3mEBzB| — ~ — — — | 100kN/ %825 | 1.00 | 1061 ~ 11.06| 10250 |3mE#Z5 - ~ — — —
s 1.00 | 017 ~ 796 100.00 | =0t | 0.00 ~ 7.96 | 2.25 11.39 s 1.00 | 6.00 ~ 1061 100.00 | =45 | 5.00 ~ 1106)| 2.25 11.59
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 720 91.57 | =N | 000 ~ 7.20| 2.69 13.10 s 1.00 | 6.00 ~ 1162 91.57 | #hLS | 6,00 ~ 11.62| 2.59 13.10
5 100kN/m%#8z5 | 1.00 | 000 ~ 0.79| 11174 |3mE#Bz3| — ~ — — — | 100kN/ %825 | 1.00 | 1069 ~ 1295| 11174 |3mE#Z5 - ~ — — —
s 1.00 079 ~ 857 100.00 | =nst | 0.00 ~ 857|228 11.52 s 1.00 | 6.00 ~ 10.69 100.00 | =4 | 6.00 ~ 1295| 2.28 11.52
P 100kN/m%#8z5 | 1.00 | 000 ~ 1.12| 11684 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1053 ~ 1399| 116.84 |3mE#Z5 - ~ — — —
s 100|112 ~ 890 100.00 | =nhst | 0.00 ~ 890\ 2.19 11.05 s 1.00 | 6.00 ~ 1053 100.00 | =5t | 6.00 ~ 1399| 2.19 11.06
7 100kN/m%#8z5 | 1.00 | 000 ~ 066 109.77 |3mEBzB| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 1089 ~ 13.01 109.77 |3mZEEZ D - ~ — — —
ZhLlst 100|066 ~ 844 100.00 | #nst | 000 ~ 844|207 10.44 zhLlst 100 56.00 ~ 1089 100.00| Fhs | 5,00 ~ 1301 2.07 10.44
3 100kN/m#E#Z5 | 1.00 | 000 ~ 003 100.38 |3mZE#ZB| — ~ — — — | 100kN/m%#82% | 1.00 | 1063 ~ 1070| 100.38 |3m%E#Z5 - ~ — — —
zhLlst 1.00 | 003 ~ 781 100.00 | #nst | 0oo ~ 781|212 10.71 zhLlst 1.00 | 6.00 ~ 1063 100.00| FnhLs | 500 ~ 1070)] 212 10.71
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZFhst 100|000 ~ 455 56.80 | #hst | 000 ~ 455 1.90 9.59 ZFhst 1.00 | 5.00 ~ 5.00 56.80 | #hst | 500 ~ 500 | 1.90 9.69
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




